Part One

Lesson 1

Exercise 1a.
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Exercise 1b.

a big table

some good chairs
a small country

a big mountain
some old houses
some bad pens
some old erasers

a new book

a good pen

some new tables

a new house

a small piece-of-chalk
13. some big countries
14. asmall door
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Note that all of these noun phrases are non-specific. This is because attributive adjectives in absolute
noun phrases need ezéafe, which is not explained until §14.1.

187.2 silent ‘he’
285.2 silent ‘he’ or ‘ye’
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Exercise 1c.
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Lesson 2

In other words, plurality is marked only once in the NP, so neither demonstrative adjective (.|
g1 nor attributive adjective (§8.1 o= S S7) are marked.

To summarize: verbs are always singular, except for animate plurals (,\;,<7J i s p)), or ‘short’
affirmative plural copulae (. 3= LS o).

Exercise 2a.

Because the Exercise asks to make the entire noun-adjective combination a predicate, the pronoun
required must therefore always be demonstrative (e.g., “That is a big mountain”) as opposed to ad-
jectival (e.g., “That mountain is big”) since the latter form wouldn’t include the noun as part of the
predicate. Second, since the attributive adjectival enclitic isn’t taught until §14, we must assume that
the predicate noun phrases are intended to be indefinite.

This is an Iranian young-man. cawl Ghpl e )y
That is a big mountain. ol Sy 25 &I .Y
Those were bad children. s A S ) Ly
Tehran is a big city. cew) Sy s O LY
This is an old country. co) B (5)5aS ) L0
Those were small tables. g S Slage I
Those were small books. Sy S S s T Ly
Those were new chairs. vy 5 Slede L A
Those are small windows. ) S S Slee ey [PE
America is a big country. sl Ky paS < fT AN

Exercise 2b.

There are subtle rules governing the number and ‘definiteness’ of a kernel noun phrase predicate
which ought to be of use in determining whether the noun-adjective sequences are in fact predicate,
and thus whether the demonstratives are pronouns or adjectives. However, these are only first given
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in §15. It seems that a simpler ‘semantic heuristic’ suffices: a demonstrative adjective requires a
definite noun phrase. This rule appears to produce answers that are compatible with §15.

The book appears to use the term ‘non-specific’ (§15.2 p15) and ‘indefinite’ (§15.4 p16) interchange-
ably.

This,qj young-man is Iranian. o uﬁ\ 2 Ol by
Thatyron is a big city. Lol 3))-3 S QOf Ly
Thosepron are good children. S laasy gl Ly
This,g; country is old. NN PNRY ST AR
Those,q; tables were small. sy S (g O Lo
Thatpyon Was an old book. g ewdd gl Ol s
Thispron Was a new chair. g e Jleo ¢ Cﬁl Y
Thosepron are small windows. Dp ¢ See sy gl LA
Thesepron are big countries. ALK S yeas ) e

Exercise 2c¢.

This is governed by §10— the sentences in this Exercise qualify as affirmative short copulae in that
context.

Yes, that young-man is Iranian. NOW eI pes of caly .
No, that young-man is-not Iranian. T us;\ JUReIpeS o ¢ S

Yes, those countries are very old. NEY PSR )L,....; o, pasS O ¢y .Y
No, those countries are-not very old. CIW RPN US| WV g |58 Ol ¢ e

Yes, this child is small. o N LIVT LR ¢
No, this child is-not small. g S oy )

Yes, those tables are good. Ao e #OT IV
No, those tables are-not good. CCnd P93 e O S

Yes, that chair is completely new. cow g ST Juis O cdy Lo
No, that chair is-not completely new. s 6 Dl QJM O s

Yes, this table and chair are good. pueepes u)w 9 g s L
No, this table and chair are-not good. o P9 gw 9 g o)

Yes, that city is in America. TS fijfT)J o O caly Ly
No, that city is-not in America. NOWRA LW ,oT BERPP Ol ¢ s

Yes, that mountain is very small. cowl S ST s e of ey LA
No, that mountain is-not very small. s S S J" o0sS o ¢ Jres

Yes, those books are old. Y SVRL LS ) cas .q
No, those books are-not old. NCISN PR VYIS e

Yes, this piece-of-chalk and eraser are good. Ly }5-“ oS D Gf o) ey

No, this piece-of-chalk and eraser are-not good. s 2 oS Pl § o) e
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§15.4

Vocabulary

4 3 Lesson

Exercise 2d.

This mountain in America is-not.

Those books why is-not here? [Why are those books not here?]
Those tables [are-]not big but [are] good.

That city why is bad? [Why is that city bad?]

America is a big country but is-not old.

Those Iranians were where? [Where were those Iranians?]
This table and chair are big and good.

Iran is an old country and Tehran is a big city in Iran.

That young-man is-not Iranian, is American.

These are very good books.
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Exercise 2e.
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Lesson 3

In other words, the indefinite enclitic may mark the noun or the noun phrase. However it seems to
be canonical for it to fall on the noun phrase, as seen in §15.2.

So a predicate noun phrase is indefinite and agrees in number (also §.2), except an unmodified noun
(i.e., a kernel noun phrase) is always definite singular. The second example might suggest that going
to a negative predicate has influence— but it doesn’t: duzews oS gl

The spelling ... is apparently obsolete in favor of ;L.m,

1Since the personal pronoun isn’t introduced until Chapter 4, assume an inanimate “they”.
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Exercise 3a.

a clever student

some happy boys

a well-known country
some ruined houses

a big man

some very clever children
a very lazy man

some fairly useful books
some very good students

a completely new university

Exercise 3b.

Yes, those are children.

No, those are-not children.

Yes, this university is old.

No, this university is-not old.
Yes, they were good teachers.!
No, they were-not good teachers.
Yes, Tehran is a good city.

No, Tehran is-not a good city.
Yes, they are lazy men.

No, they are-not lazy men.

Yes, those children are Iranian.?

No, those children are-not Iranian.
Yes, that famous university is in Iran.3

No, that famous university is-not in Iran.

Yes, those books are about Iran.
No, those books are-not about Iran.
Yes, that was an old and useful pen.*

No, that was-not an old and useful pen.
Yes, those small lazy boys are clever.5
No, those small lazy boys are-not clever.

3 Lesson
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'In the question, “ s> (slg-lns"must be parsed as the predicate of a third-person plural ;> 5, and by §15.4 is an indefinite
plural— thus not, “Were the teachers good?” but “Were they good teachers?”

?Here, “ ! »| laa%,” is not a noun phrase predicate, but “laax, O1” is a noun phrase.

3The question appears ambiguous: “Is that famous university in Iran?” (assumed), or “Is that university famous in Iran?”

4Again, ambiguity— is the demonstrative a pronoun or adjective: “Was that a useful old pen?” (assumed), or “Was that

old pen useful?”

5Now there is no ambiguity— the demonstrative must be adjectival because a plural demonstrative pronouns would be

marked (L@JT)
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Exercise 3c.

Tehran is a big city and is-not an old city.
Those were old ruined houses.

Those are-not boys, [those] are men.

This boy is-not lazy.

That clever student is-not in university.

Why in this city [there] is-not a good book?

In those universities the students are-not lazy.
That book is-not here, where is it?

These old books are about Iran?

That man is very famous in Iran.
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Exercise 3d.
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Lesson 4

816 Personal pronouns:

The past copula was not yet introduced at this point— §24 provides a suggestion on how to handle
it.

!These are given in the text as personal pronouns “he, she, it” and “they”, respectively— but I suspect they are actually the
demonstrative pronouns of §9.2.
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Exercise 4a.

I am always happy.
They are lazy.

Youy, are-not a child.
You are a child.

We are-not doctors.
Are youy, a teacher?
Who is this gentleman?
What is that?

Where are we?

That box is big.
These ladies are kind.
You are a good child.
Are youy, a doctor?

I am Iranian.

Sir, where are youy,?

Exercise 4b.

We are good university students.
Youy, are a famous doctor.

Youy, are a student.

He is a happy man.

They were clever children.

These books [were] fairly useful.
These men are big doctors in Iran.

I am a student in Tehran University.

That is a boy clever but lazy.
These youths were students.

Exercise 4c.

4 Lesson
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Lesson 5

Exercise 5a.

Yes, this child is my son. o] Aty ] I PSR
No, this child is-not my son. CCd P g A ) o ,ou

Yes, I am his daughter. (..M.a ;\ JZ>-3 RTINS
No, I am-not his daughter. (""““‘f j f>-3 o S

Yes, she is the mother of Ali. IV B T IRV I ¢
No, she is-not the mother of ‘Ali. NCISO 2.;/\.2 ;\ g

Yes, you are the father of that child. ) A ol BRI TV
No, you are-not the father of that child. e ] J-«\g $ ¢ jou

Yes, the books of me these are. ed L) B S i e
No, the books-of me these are-not. e ) B @S gy

Yes, these are the books-of me. N v e VA R VEY T
No, these are-not the books-of me. A e L;L@:/LS (V2 Qecy

Yes, Tehran Road is [from] here. CTUWEE Y] N5 I 0 B R PY (R
No, Tehran Road is-not [from] here. TSSO EY j OV o\j ¢ ,ou

Yes, Tehran is [the] big city of Iran. coed O )8 s O Al LA
No, Tehran is-not [the] big city of Iran. g 01! f )}f J.@,; Ol ¢ jou

Yes, he is the father of Ms Alizadeh. o 035k /V:La- oM J b .9
No, he is-not the father of Ms Alizadeh. g 035408 (,j\.a- N j P

Yes, Mr Alizadeh was with me. Y u*‘U 0350e e;@\' oy

No, Mr Alizadeh was-not with me. .S )i; Al esile ST J,«?u
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Exercise 5b.

1.

10.

The new books of us [our new books] where
are?

The new books of us [our new books] are with
the mother of you [your mother].

The house of youy, [youry house] to here near
is?

Yes, the house of me [my house] to here very
near is.

The-country of you,, what-is? [What is your,
country?][Where are you,, from?]

The country of me is Holland.

Those girls with youy, were?

No, those girls were with her.

The book of the small [young] son of him in
the house is?

No, the-book of the small [young] son of him
with the father of him is.

Tehran from here far is?

Yes, Tehran from here very far is.

The house of me near-of [-to] the house-of
youy, is?

Yes, the houses of us are near.

The name of you,, what-is?

The name of me is Ben.

Today where youy, were?

Today we-were with the mother of Maryam.
This for whom-is?

This for-you is.

Exercise 5c.

One-of the new books-of ’Ali.
One-of the houses-of Mr ’Alizadeh.
One-of the roads-of Iran.

One-of the children-of that woman.

One-of the sons-of the mother-of me.

One-of the long roads-of that country.

One-of the students-of the university.
One-of the houses-of this city.

5 Lesson
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Exercise 5d.

A o

The new house of the mother and the father of you,, where-is?
Today that kind Iranian man was in that city.

The city of Tehran from America very far is.

Mrs "Alizadeh, youy, the mother of that small girl are?

The house of them where in Tehran was?

One of these new books for ’Ali is.

Exercise 5e.
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This gentleman is a teacher.

That lady is a very kind teacher.

The small [young] daughter-of youy, was always happy.

Sir, in that big box what-is?

The students of the university where-are?

This old pen is completely broken.

They are women fairly clever.

The father-of him was a physician in one of the cities-of Iran.
The teacher of that smart Iranian young-man youy,-are?
These chairs are-not good.

Cewllid 05 6l ool
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Lesson 6.

§24 Past absolute tense:
take give remain

inf
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Exercise 6a.

we-saw

they-brought

What did-they-take?
he-didn’t-hear
I-brought
Did-you-want this?
Did-youp,-see me?
we-took

Did-we-want that?
I-was there.
We-didn’t-see Iran.
Who took this chair?
I-took youry, pen.
You-gave those to him.
Did-youp,-hear?
Friends-of them they-brought these for me.

He-was-not in that city.
The students took the books.

Exercise 6b.

Why-yes, this place is good.

Why-yes, I-wanted these.

Why-yes, that city was bad.

Why-yes, I-bought these.

Why-yes, we-saw you.

Why-yes, ’Ali and Akbar were here yesterday.
Why-yes, he-gave those things to ’Ali.
Why-yes, they-are in the house of my friend.
Why-yes, that city from here far is.

Why-yes, we-heard his name.

6. Lesson
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Exercise 6c¢.

1. They-did-not-see the friends-of us.
2. He-wanted that other pen.
3. Did-you-give the-book-of me to him?
4. I-heard those.
5. Those things why youy-did-not-take?
6. The-books we-brought. [We brought the books.]
7. The-mother and the-father-of youy, in the-house-of Mr Ja’afan I-saw.
8. These we-did-not-want.
9. That did-youy,-hear?
10. Those who brought?

Exercise 6d.

Sapdasd 1T
3 SRS 4 p 3 DR ) Ly
35 G b 4 Gl Y
el e Veip ol L0
ke e G D) e L8
T
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s GBS 3 S ks 9
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Lesson 7.
Vocabulary It helps in understanding to be cognizant of the component meaning of the compound verbs. Inter-
estingly, this component meaning is not obvious to or even known by native speakers.
Compound Prefix Base
to work to work-do 035,85 | work L5 | todo 055
to live to life-do 035 Suj | life S
to find ? 035\ | ? W
to progress to ?-go B e | ? U | togo o)
to attend school to school-go ) m}m school 4,.5),\,«
to pick u ? Y ; | tohave S
pesp g z e
to study to lesson-read 0L e > | lesson s> | toread o) >
to return ? A O | ? 5 | tosearch u,.wf

829 Past narrative tense:
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Exercise 7a.

My friend letter-wrote [wrote-a-letter].

Why our work we-didn’t-advance?

My mother and father live in this house.
I from the city to the house returned.

Those books we readpart.

Ali and Maryam went to school.
Those things I-picked-up.
Youy, from school came?

My friends much studied.
He/she has a good book.

Exercise 7b.

I-also have-written a-letter.

My pen who has-picked-it-up?
Youy,-also have-attended-school?
He/she-also a-book has-written?
In that house who has-lived?
Youry,, work much has-progressed?

Youy, why these have-brought?
We Farsi have-studied.

I much have-books-read.
They yourp,-voice not-have-heard.

7. Lesson

take give remain

Y 0313 oul o inf
4.:95 0313 N 4 pp
r\/q%g;/f \AB}\S \a\:::.ULZ (\4: S1
slas S ey el | gla s2
wi 4./:9;/? w/\ o/:\S w/\ o:UU w/\ 4 83
Asf el el | e p
s S esls el | ala p2
WS Wl wlewt | ufa p3

cbgal

e Y

WE SNy

228 5y

R

B, L8

pils 5y

o Jg.:\.»/\ N

Ll w3 .9
sl oy,

dasy

ol asls 5y

A ad) ands LY

Cowl iy ¥

g:,-wi o.};f ‘_5.;\.:2 .0

) ey o F

Wl v

el ols= 3 LA

ol edilsm ST g
NP UCR I

o



15 8. Lesson

Exercise 7c.

el S
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Lesson 8.

Exercise 8a.

Don’t quite understand the point of this exercise— is it supposed to be difficult to know where to

insert a>?
That city how quiet it-was! Isg (’BT =3 ﬁ..,» S
How good a girl she-is! YW/}; jo-é ar .Y
That lesson how difficult it-was! 39 ot a3 O ¥
Winter how cold it-was! 39 63 Qlusj ax ¥
This summer how warm it-is! ol ¢ Jf “r QCMib u:\ .0
The-work how difficult it-was! 3y coie ax ,5 L5
The-school how old it-is! ol u“”“\; “r Am/ﬂ).x.o Y
Today how cold a day it is! L3 5 oy 4 )')}J -A
Yesterday how warm it-was! 59 (/ Jf 4:/- Gees .4
These books so easy are! 1) L;‘L&T slels T AR

§31.3b So:
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Exercise 8b.

Which cities did-you,-see in Iran?

What work in America did-you,,-do?*
What work they yesterday did?*
What did-youp-read in ’Ali’s room?

What have-you,-read today?
What did-they-pick-up from there?

Which lady’s things was he wanting?

What has Maryam given to me?

Exercise 8c.

1.

Which cities-of Iran have-youy,;-seen?
Tehran I-have-seen.

Yesterday which book did-they-read?
Yesterday this book they-read.

From on the-table-of ’Ali which book did-
youp-pick-up?

From on the-table-of him this book did-I-
pick-up.

That man which thing he-has-taken?

This thing he-hast-taken.

Maryam in which university she-has-studied?
In the-university-of Tehran she-has-studied.
We students-of which university-are?
Students-of the-university-of Tehran youy-
are.

Youy, the-father-of which girl are?

The-father-of Maryam I-am.
To which library they-went?

To the-library-of the-university-of Tehran
they-went.

8. Lesson
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!Note that the prefix separates from the verb compound to become a direct object of the sentence.



17 8. Lesson

Exercise 8d.

= VPR S AN

This house quieter than those other houses is. el S5 s 45L>'- ol ) j:.a\ J\ wlx u’\ .

Today warmer than yesterday is. ) ) 3 j.s )\ 4 ; Js /z\ .Y

This lesson easier than that lesson is. T o )3 ol )\ }\JLw‘ oo ooy

Winter colder than summer is. e QLMJ\; J js o Ol oj ¥

This work harder than that work is. ) Jicy u\ )\ e )\5 u’\ .0

I than you more studied. f\“\’\f" o> r"‘“’ Lk )\ .5

The-newspapers-of Tehran better than those Ll ; ol )\ J,.@; Ol Ls\.aub 3 j -V

others are.
We earlier than youy, arrived. (..,.x.aT Lk B Jﬁ; )j LA
They earlier than I returned. J.MMS 5 u” B j.s j S
He more than I letters wrote. w}; \)Lmub o )\ J;,:M P
Exercise 8e.

The best books these are. e A @S e )
Books {better than all},gjp these are. L o) aed j JZ@.; LsLé;LK

The tallest man that is. el OT 3,5 w,u: .Y
The-man {bigger than all}4;p that is. el OV TP )\ f.u.: 555

The-most-difficult work this is. R u"\ )\5 o J::&w .Y
The-work {more-diificult-than-all},g;p this is. | o) aed 5 J,’.‘:ow )\5

Yesterday warmest was. ) y R ; Geps ¥
Yesterday warmer than all was. YV s ja TP )\ A JS

Today the-warmest day is. ) JJJ JJ.’JJM Jjj»\ .0
Today the-day {warmer than all}ag;p is. e 9 f\ TP )\ fs e

These the-smartest students are. REE(T e idl3 oy f-<‘) SRS/
These students {smarter than all},4;p are. eyl o r-<u S L/;/Ua jéumi 15

’Ali the-most-famous man is. el 3 4 o J.; ) j.é.we P
’Ali the-man {more famous than all},g;p is. | ‘_;& IO )\ J., 3 j.@,.m 20

This the-easiest lesson is. S| )s o J,.J\.w\ oA
This the-lesson {more-easy than all}g;p is. e o) TP )\ ,4\.“\ o )3

This the-shortest boy is. ] R jab jf o) oa
This the-boy {shorter than all}ag;p is. ) o) Aok J\ el ; Jeae

That gentleman the-best doctor is. ) B 2o ré‘ H] Q:\' AN

That gentleman the-doctor {better than all}4;p is. s BT ST ;‘-6-’ don )\ Sl 3
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Lesson 9.

Exercise 9a.

Yes, that big garden the-property-of me [mine] is. ] o b gy Cb of cals .y
That black box is [mine]. el o Jb oLj:& Lax OT Ly
No we-are-not the-property of [from, of] this village. e 02 o L)LS G« J,«?u .Y
These villages are the-property-of [belong to] that city. Y| J.@M ol L)\.Z Q\;; oY
Yes, that pen is Maryam[’s]. ) i JLZ V'l’ ol TV
No, I don’t know this the-property-of where is. wb:f L/j\.f: o M\v\m ¢ }ou .5
Of those this one [?] was more. g b b ol T oy
This [mine] is. ) o L)U» o)A
Exercise 9b.
1. Those Iranians where did-they-use-to-live?
2. These students more have-studied than those.
3. Inthe elections of this year who [the victor?] is?
4. Them each day I-have-used-to-see but today they-have-not come.
5. The-father-of ’Ali and maryam into the big city gone, and not-returned has.
6. Why them they-elected?
7. I-didn’t-know that [whether?] this the-property-of ‘Ali is or the-property-of the-father-
of youy,.
8. Last-night in a-big garden some delicious fruit we-were-eating.
9. Why louder youy,-not-spoke? The-voice-of-youy, I-heard-not.
10. The-children-of that village all-of the-fruits-of the-garden-of-you,, they-have-eaten.
Exercise 9c.
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